SEHAHPE S8R  BHE 971211

& Book3 IR |=% i
B | ZETEER [FER %

— EEE (BE S )
11-(B) — T Erpbi(1,2,0) 77 fl = T Fix+2y =32 =02 X~y + 2 =10 360 [ Pupu A
£y (A)3x—2z=1 (B)3x-z=2 (C)2x—z=1 (D)x+y+z=4

P (x+2y =87) +k(x—y+2-1)=0 > £ (1,21) - H2-k=0- k=2

S EIEE3X -2 =2

12 ~ (AD )(?Ei:_?_)l%j TEIE i x+ky+2=0%" E,:X+~2y—z+1=0fi% E"’JET@% sk k=2?
A2  B1 (€2 (D)2 (B2
ZCOS%=%= 1+\/§k—1

JI+k2 +141+2+1

I Do X=1y=2 -3 e s
13+ (B) xyz #RIL~ B0 W= it == T2 =TS e T SR
(A)x-2y+z+1=0 (B)x-2y+z=0 (C)x-2y+z-1=0 (D)2x-y+2z=0

(E)x—-2y+2z+1=0

—k2+2=2k? > . k=%/2

317 - PO-1) » WL BrQ(L23) » PQ=(0.2,4) » ¥V =(4,5,6)
N =PQx v =(0,2,4)x(4,5,6) = (~8,16,~8)

ST EREIEEE N =(L-20) =T PR X -2y + 20

—ERRE (BE 10 5)
18  AF1E] = BAB-1,2), B(5,0,1), C(4.2,2)f!]
(1) AABC [ i 5 7 2
(2) 1 ABC i RN EL i 2
(YT EIABCZEI EIE : x+2y-32=617 |t 0 EJ[J|COSH|= ?
(4, A B, C T I E FVIERST IR A, B, C' » JIIA AB'C' VA B 2
(5 %] @ %ﬁ (2) 3x-y+52=20 (3)@ (4)@
© AB=(2,1,-1), AC=(130), ABxAC = (3,-15)

(1)A\ABC E'l*ﬁ%l ABx AC | :%\/9 +1+2 :%\/ﬁ

(2)2 21 ABC A= 3(x =3) = (Y +1) +5(2-2) =0=3x -y +52-20=0 -
5 9:|(1,2,—3)-(3,—1,5)|:JE
(3)|cos 6| | ax3 | 5

(2)/\ AB'C' 214 = AABC x cos @ = %\/%

(1014
5 2
18

/a%—



19 - I%[‘%ﬁA(&l,—l) » ITPIEIX-2y+z=4 > [AGT I E | E%Eﬂi" ’ ?ﬁg’!ﬁz

o

2 G- G

f347|: (A0 t=3-2-1-4=-4

(4) @-21) 11 -1 -

5{4&’!131 -1)-1x— \/E NG =(= 33"
(-4) 4) -2 13 51
SHFIEN3,1,-1) - 2% 3733
SPAR81 D -2x xR = (2 )

20 - I%ﬁ:‘_gf FEJ— TFIE2X-y+32=7 » My %H“A(LB,Z), B(-2,15) - %'[EIERAB LTI ERTC o

HJ AC:BC = o

32
2-316-7| |-4-1+15-7
. AC:BC=d(AE):d(B.E) - |- |
J14 J14
o ?A(Z'&lﬁijf’f E b S RESET T P3x-y+52=7, X-y+2z=11055 > [T E
lé[fjﬁij?:@:ibj;i)f °
% %1 3x—y-22+1=0

)

wlp

=2:3

JES T H=(3 -15)x(1,-1,2)=(3,-1,-2) ; 3(x-2)—(y-5)-2(z-1)=0=3x-y-2z+1=0
22 ~ I%* FE FE T‘]‘EFA(Z -3,1),B(412) S T EET IR Tx—y+2z=5=" > [T EIERUY
AR, o

% %[ 3x+y-102=-7

P B BEfE N = AB XN, = (2.4,1)x(7,-1,2) = (9,3,-30) =3(31-10)
S FE3(x=2)+(y+3)-10(z-1) =0=3x+y-10z+7=0
23~ BT 1B SEHIL.4) 2 T 5T FHECE sy, yz, 27 P'F*@'ﬁ'*i/?el@ﬂ?aﬁﬁ" THES
}[E = IFﬁ ? ’ [l*ﬁ Fa%gétul—lj ?

9 . ! ¥ y Z
| B EFRE ! g7, = £
b | BT 54 T E 3+9+12 1

47 2%ﬂ‘E'IE:5+l+E=1;’1+§+£=1;'a>0, b>0, c>0
a c

[ a b ¢
l+3+4
i 7 g L .+ a b c., 12 abc
| E 7 37— UG SRS £ — abe > ETE$ st 8 C> g , - S54
P jEHK [ FE‘FEA‘ i 5 ET /7 s > -

1 3 4 1

S A Eﬁ—=——E:§’ .a=3,b=9,¢c=12 > El[ﬁj’gﬂfﬂ% 54 > T E B

Z
12

L A
3 9

24+ I L 3 A(L-5,-2), B(-2,-5-9)F(i ¥ B P(3:3.2) ] AP it AB 1V T3 ,

P hmhg,\L VAR PP SR LV SPER °
(% %]+ 3,01); (4,-5,-1); (5-13,-4)
4] -

£2H



AP=(2,8,4), AB=(-3,0,-1), AP AB Il 53

AP AB — =10, =

( )-AB = (H)AB (3,0,1)

|AB|’
AB:x=1+3t, y=-5 z=-2+t, P(3,32)

<7D KPS L VYR ]| AD = (3,0,1) = D(4,-5,-1)

=0 p S L U BERET PY IIPP' VHiBkEE D= P'(5,-13,-4)
Fits iR

-1 7 -1 z-a R,
25 - I XL5:3’+—2:§,L2:X; = T2 = 2R P P B :
7\/a: o

D (-2,7,12); 4
3470 Lix=t-5y=2t+1 z=4t, [ Lz=>t_55+7:2t+61_1:4t;a St=3 a=4
TR P (-2.712)

26 ~ T ﬁniﬁLLl:L— yl 2_23, L,: X_25: yJ1r4= Z;rl > IR LA s A

2
=g, DT SR RS :

5 % x+z=4; 2\/5

L P(L0,3) 7Ly b Q(54,-1) 7Ly I » PQ=(4,—4,—4), Vv =(2,-1-2)

P_(5><72(4,0,4) PSP R A(x =) +0(y -0) +4(z2-3)=0=> x+2=4 ;
o~ / 2 2 2
=T I;CHIEJQ‘EPQEtr | Q Vl 4 +O +4 ZE\/E
_ 3 3
| v |
X—2 _y- 1 z-1 X-5 y-3 z
27‘%‘ , L —— =2 —=_— > I
b -1 4 7y 1 3 Al
QL=L, Elfﬁ\%w FETET, 0
(2)C|JA LlA\:_:-FtL [/_I ]:‘—l_i‘,@ Lf'r o
EEIRE) P(l 2-3)  (2) -7x+13y+5z=4
) St=3_t-2 4+l
27 , (RH , = =13 -3) o
[f344] (1) CEPE+2,-t+14t+1) » 27 L, ] . ;= t=-1 CHIP(L 2-3)
(24 0 SR EREfE > 0 Ly =@L-14) 0 Ly, =(413)
meuse=( P horass)
. = X = ] ] =\, )
2N 3" 3 44 1

LB -Tx+13y+5z =k }[ﬁ]’ P(1,2-3)(%* » " k=-7T+26-15=4,.".E:-7x+13y+5z=4

£ 38



28 ~ 3 A(3,-2,-2), B(-1,0, 2)@&@@%_@# FIE:2x-y-22=T 1 L HiHs » AL
=A i E VR FEL O o [l cosd = o

st . 1 _ g
(5 %] @-1-2); 5

12450 AB:x+1=4t, y=-2t,z=-2 {** E 2(4t-1)—(-2t)-2(-2)=7, .‘.t=% ) 7&%#[(1,—1,—2)

L IR Vo = (4-2,0) % [ EFEFIEL N =(2-1,-2) F o
(2,-1,-2)-(2,-1,0) 5 2

! = = — ’ _=

bl cosa X e 3 ".cosé =sina 3

29 ~ T I EEE T PXx -2y +52=2 B 2x -3y + 2 =340 s ’\/E\\HFA(—4,1,2)&3‘ FIE o
7 1 E U A= °
(£ %]: 8x-15y+312-15=0
fE47| I%* F1E Fbk(x=2y+52-2)+(2x-3y+2-3)=0 » 2k-12=0 > .". k=6
|}|E5E 38X —-15y+312-15=0

ST T O

30 ~ RfIIZ EFFA(S 2,1),B(4, 4, 4T EX+y+z=07 E H5— EHFP ) TEZEAJrP_B 05 =24 N
EI“ Py )fﬁtn IH

4 . B

: P(g, 0,—5) \/ =
PA@3,2,1),B(4,4,4) 8 TP Eix+y+2=0=A B lf}] P
X =3+t A
()3 A S E VEPARTA AN y=2+t te RN E
z=1+t
3+t+2+t+1+t=0=t=-2 » AA E TH(L,0-1) » . AR (-1,-2,-3)
X =—1+5t
(2)AB=(5,6,7)= AB:{y=—2+6t, te R [** E
7=-3+7t

14+5t-2+6t-3+7t=0 = t=1 - .‘.ﬁé’?Eﬁz‘%ﬁP(%,O,—%) . {1 PA+PB KL -

w|

31~ T HAGRL2), BAS A islix=t+1 > y=1- z=—t+2 > FHP F L PR
E'IFIP%H R - APAB U Aife [ 7 H ] AR KL 2

P P(2,1,1) » APAB fUT Al ] /2

a47] [IRLAB T L EL AL KRN APAB P | o i P EIRLL VB E | > ISP 4
IF=Saf b 3L ;‘ WL VR

=

PU+LL-1+2) » QT AB b Q@+5,1+25,2+5) = PQ=(5—t+2,25,5+1)

£ 48



— - _ ’ (s—t+2)—(s+t)=0 R 1
PQ-(1,0,-1)=0, PQ-(1,2,1)=0 {(s—t+2)+2(23)+(s+t)=0 St=1>ss= 3

P11, QE .12, Po- Zf AB=v6 . APAB=LxV6x2B_ 2
3'3'3 > 3
X— 3 1 z-5 x+4 1- 3-z
32~ Ly 6y L 2y= .

mcu LT ELETE? @R L, L, o
E 1) 2x+y+22—17 (2) 6

OFTFEWALELT o SR
“nlv,, Yy =01-62), v,=(3-2-2)

n Lvl_-
- - |6 2 2 1 |1 -6

Sovx v, = ( , , )=(16, 8, 16)=8(2,1,2)
M2 2 -2 03

" “TVn_(212) ’ L PEJE#‘A(S 1,5) E 2(x=3)+(y-1)+2(z-2)=0

E: 2x+y+22:17
—8+1+6—17‘

(DHB(-4,1,3)% L, > d(L,, L,)=d(B, EF‘W -

. ey W X-1 y-2 z43 x-1 y-1 z-1 _ .
33\¢Iﬁ‘xj+1pa££L1. 1 = 5 = 1 L, 5 = 5 = 1 =i

1

(1) L =2 L, Py AR ByThEE . (2L L, e
\/_ y 18 z+ll
9 97 5 "5
H (1) ) 5 -1 2

(D)6 PAAL, 2426, -3+1), QU+251+25,1+5) = PQ=(25—t,25—2t -1 s—t+4)

L PQ L(1,2,1)5 PQ 1 (2,2, 1)
C[1-(2s-t)+2-(2s-2t-1)+1-(s—t+4)=0
“12-(2s-t)+2-(2s-2t-1)+1-(s-t+4)=0

Po=02 ) ¢ hal= Dy By 25

5
9 18)_9 .
,5) 5(0 -1,2) 2|l £N (0,1, 2) -

—

(2) - P(———) Q(———) Q=(%
9
X=—
5 18 Z+11
N 18 97 5 5
SEEPQily="o-t , teR o Jx==, -
SR - SRS T T
z_—E+2t
5

£5H



